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Note :— Attempt all questions.

SECTION-A

1. Attempt all parts of the following : 8]

l

8

(a) Whatis Data Structure?

(b) Define queue in data structure.

(c) What doyou understand by recursion?

(d) Whatis Algorithm?

(e) Listvarious tvpes of linked list.

(f)  Write the condition for full circular queue.
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() Lixplam biary scarch tree.

(h)  What do you understand by Bubble Sort?

SECTION~B

9

Attempt any two parts of the following . 276 12

(a)  What 1s Sparsc Matrix? Writ¢ a program for

array representation of sparsc matrix.

(b) Lixplain circular qucuc. Write a program for

implementation of ¢circular queuc using array.
(¢) Lixplainsingly linked list with suitable example.
(d)  Write a program to perform scarching opcration

using binary search.

SECTION-C
Note :— Atlempt all questions from this scction.
10440
3. Attempt any two parts of the following

(a) (1) Differentiatc lincar and non-lincar data
Structure.

(11) Discuss the advantages and disadvantages

of linked list over array.
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(b)  Explainsingle circular linked list with example.

(¢) Write an algorithm for creating a singly
linked list and inserting node it (Beginning,
Middle I:nd).

6. Attemptany two parts of the following

(a) What do you Imncali |‘}y merge sort’? Haow ol

occurs? Explaimn with example.
(b) Explain binary tree along with its type. What 1
complete binary tree”? Lxplain with cxample
(¢c)  Write down the inorder, preorder and postorde:
traversal of the following (ree
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